Friday 8th January 2021
Year 5
Complete the level you would usually do in class - [image: ],[image: ]or [image: ]. Copy out the sequence in your home learning books.
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Challenge
If you finish your task quickly and would like a challenge.
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6a. Tick the box to show where the mixed

number 5 % should go in the sequence.

7a. Sequence the numbers below from

smallest to largest.

4 1

4]2 32‘ ‘4
10 1 8
3]2 46‘ 312

%
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8b. Mrs Williams shows Class 5 the
sequence below.

26 2 32 6
4, 6, 4 3. 5, 6, s 9
Marco says,

The 7! number in
the sequence

will be 6.

Is he correct? Convince me.

9b. Use the information below to put the
cards into fwo sequences.

One sequence is increasing by %
4
One is decreasing by 5

One sequence has 5 numbers and one
has 4.
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11a. Sequence the numbers below from

smallest to largest.

35 3

= 3= a
‘ 8 ‘ 4 ‘ ‘

14 3 33
3% 42 ‘ 8

12a. My sequence starts with the

improper fraction %
B N 2
Itis decreasing by 77.

Write the next 5 mixed numbers in the

sequence.

v
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Three children are counting in quarters.

Whitney

@

Who is counting correctly?
Explain your reasons.
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2b. Mrs Green shows Class 5 the
sequence below.

2 3 4
3'3 36,36,36,3

oln

1
6,
Jake says,

The next number in

the sequenceis 4.

Is he correct? Convince me.

3b. Use the information below to put the
cards into fwo sequences.

One sequence is increasing by %
1
One is decreasing by 5

Both sequences have 3 numbers.
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Ta. True or false?

The sequence below is increasing by%.

1 2 3 4
Vo g 15 1y 2

%

2a. Tick the box to show where the mixed

number 4 % should go in the sequence.
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4b. Look at the sequence below.

Circle the mistake.

Explain your reasoning.

% .

5b. Mrs Shaw shows Class 5 the sequence
below.

2 3 2 4 2
55, s 45, 4ll), 35, 35

Darren says,

The next number in

the sequenceis 3.

Is he correct? Convince me.





